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N.B: (1) All the symbols have their usual meanings.
(2} Figures at the right side of questions indicate full marks

Total Marks:70 .
Write correct answer for each of the foliowing MCQs.
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1 The transistor parametersare ___ dependent,
a) temperature b} clipping
c) resistance d} pressure

Z  Transistors are used in______ circuit.
a) rectifier b) Amplifier
¢) Zener diode d) None of these

3 Which of the following h-parameter gives input impedance of C-E transistor?
a) hrg < b) hi,
¢} ho,g d} hf,

4 Agood biasing circuit establishes the operating point on a DCload line____.
a) Near saturation region b) OQutside active region
c) At a middie of the active region d) Near cut off region

5 With negative feedback the out impedance of the amplifieris
a) increased b} becomes infinite
¢} decreased d) remains constant

6 In negative feedback amplifier, the feedback voltage and input voltage are

a) In same phase b} In opposition phase
c) Both {a) & (b) d) None of these
7 The voltage gain of emitter follower is always ‘
a) Less than unity | b) Greater than unity
¢) infinite ‘ d} less than 10
8 Writeafullformof RFCis ____
a) Radio frequency chock b} Resistor frequency circuit
¢) Radio frequency circuit d) Resistor feedback circuit
9 The Wein bridge’ oscillator is used for generating _____range of frequencies .
a) 10Hz to about 1M Hz b) 1Hzto1 M Hz
¢) More than 1M Hz d) Lessthan10Hz
10 _ circuit that generates an alternating voltage.
a) Diode b} Amplifier
c) Oscillator ‘ d) Rectifier
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Do as Directed (fill in the blanks and True or False)
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Another name of the collector to base bias circuit is voltage feedback bias
circuit. (True/ False)

Emitter bias circuit is used for impedance matching [buffering]. (True/ False)
In single stage transistor amplifier circuit ___ transistor is used.

The unit of out admittance (ho,} is

The demerit of negative feedback is reduction in gain. (True/ False)
Another name of the feedback network is

The condition AB = 1 is known as Barkhausen criterion of oscillation. (True/
False) '
A quartz crystal exhibits a very important property known as effect.

Write answers of any ten questions in brief
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Write a need for bias stabilization.

Discuss limitations of fixed bias circuit.

Draw the circuit symbole for NPN and PNP transistor.

Write need of multistage amplifier,

Why dB is used?

Write applications of single stage amplifier. _
Write the equation for input and output impedance of negative feedback
amplifier.

Define: (1) current gain (2) voltage gain.

Write basic requirements of an oscillator circuit.

Draw the block diagram for series current and shunt voltage feedback
network,

Explain the principle of working of the Wein bridge oscillator circuit.

12 Differentiate between sinusoidal and non sinusoidal oscillators.
Answer the following questions (Attempt any 4 out of 8)
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What is voltage divider biasing circuit? Using approximate analysis, explain
how to determine operating point of such circuit.

What is Q-point? Explain selection of proper operating point.

Discuss and derive ‘h’ parameters and its equivalent circuit with necessary
circuit diagrams.

What are small signal amplifiers? Draw the circuit of such amplifier and
discuss function of each component.

Explain voltage gain of feed-back amplifier using proper circuit diagram.
Discuss RC coupled amplifier without bypass capacitor using NPN transistor.
Write notes on “ Hartley Oscillator” and Colpitt’s Oscillator.

Write basic principles of RC oscillators. Discuss Phase-Shift Oscillator.
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Write correct answer for each of the following MCQs.
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